Tubular Arch Pull

URF 'URFS #==#mns

ERT

Li+1
L3
| URF-AL | URF-ES | URF-BK k=l
234 & *1
Be A LL D H Ls L2 L Lf min. M gf;ﬁﬁ R (g)
URF-30-M6-400 |30 |400 (22 90 |440 (360 |480 |15 M6 |1000 360
URF-30-M6-500 30 |500 (22 94 |540 (460 580 |15 M6 1000 376
URF-30-M6-600 |30 |600 (22 98 (640 (560 680 |15 M6 1000 406
URF-30-400 30 400 |22 |90 440 (360 480 |15 M8 1000 355
URF-30-500 30 500 |22 |94 (540 (460 580 |15 M8 1000 370
URF-30-600 30 (600 |22 |98 640 (560 (680 |15 M8 1000 400
*1: FANNETEH.
(URFSELT T
Py Cifed 1
me A LI D H Ls L2 L Lf min. M gf;ﬁﬁ FE(g)
URFS-30-M6-400 |30 400 |22 |90 |440 |360 |480 |15 M6 1000 653
URFS-30-M6-500 (30 500 |22 |94 |540 460 (580 |15 |M6 1000 776
URFS-30-M6-600 |30 600 |22 |98 (640 560 (680 |15 |M6 1000 877
URFS-30-400 30 400 (22 |90 |440 (360 (480 |15 M8 1000 650
URFS-30-500 30 500 (22 94 |40 (460 (580 |15 M8 1000 760
URFS-30-600 30 (600 (22 |98 (640 |560 (680 |15 |M8 |1000 860
*1: FRANNEERT.
T LRSS - TR = P / ECZIED = P.xxxx

RETRN

N NBK

0512-5290-1560

IR, BRI

info@nbk1560-chn.com.cn

B4 mm
IRLEMITHIRSS
BYR

M6x 16
M6 %16
M6x 16
M8x 16
M8x 16
M8x 16

A7 mm
PRLL P AR S5
R R~

M6 % 16
M6Xx 16
M6X 16
M8x 16
M8x 16
M8x 16

https://www.nbk1560-chn.com.cn/

* AP RENSEMRF,

o B A K 270,

E—1]
RN

o FRMSE, BE,

. (B4) TRERSHREFSEREESHEELEN
B4R, ZENTE,

REFS E 2. =il
AL AR EAMALER (FR) L&
ES FEfR S ALER ($R) TR
BK BRERIUR (L R) RIS

o EM I 2N REAR N AR KRR (SUSXMT7 ).
BERIRLIHERS (BRAAIT).

o . RELE

Jut

N NBK

URF-AL / URF-ES
a8

FRIRELALE ()
TPE (&)

B

BEBER (XMEE)

SUSXM7

0512-5290-1560

URF-BK

Sl
FRERBUR (L R)
TPE (IL5&)
BE

FRERBUR (L R)

SUSXM7

o TUSIETE

-
.
)
0 RoHS
URFS
1% FSUS304
it
TPE(Z#2)
e
BIER (TER)
SUSXM7

URF-30-400-BK

-

URF-30-400 -BK-P
\ \

—
IRLLIT

&S5

ERRLHHNRS (ARSI N, BE-SESHRREM[-P

info@nbk1560-chn.com.cn

https://www.nbk1560-chn.com.cn/



